

February 13, 2006

$y_i = x_i^* \beta + \varepsilon_i$ $x_i = x_i^* \nu_i$ $z_i = x_i^* \eta_i$ $x_i^*, \varepsilon_i, \nu_i, \eta_i$ independent, each i.i.d.

$$(a) \beta_{OLS} = \beta + \frac{\Sigma x_i y_i - \beta x_i^2}{\Sigma x_i^2} = \beta + \frac{\Sigma [x_i^* \nu_i (x_i^* \beta + \varepsilon_i) - \beta (x_i^* \nu_i)^2]}{\Sigma (x_i^* \nu_i)^2} = \beta + \frac{\Sigma [(x_i^*)^2 ((\nu_i - (\nu_i)^2) \beta + \nu_i \varepsilon_i)]}{\Sigma (x_i^*)^2 (\nu_i)^2}$$

If $0 < E |x_i^*|^2 < \infty$, $E |\varepsilon_i|^2 < \infty$, $E \varepsilon_i = 0$ and $0 < E \nu_i^2 = E \nu_i < \infty$

then $\beta_{OLS} \xrightarrow{p} \beta$.

$$(b) \tilde{\beta} = \beta + \frac{\Sigma (\alpha x_i + (1-\alpha) z_i) y_i - \beta x_i z_i}{\Sigma x_i z_i} = \beta + \frac{\Sigma [(\alpha \nu_i + (1-\alpha) \eta_i - \nu_i \eta_i) x_i^* (x_i^* \beta + \varepsilon_i) + x_i^* \varepsilon_i \nu_i \eta_i]}{\Sigma (x_i^*)^2 \nu_i \eta_i}$$

$$E [\alpha \nu_i + (1-\alpha) \eta_i - \nu_i \eta_i] = \alpha E \nu_i + (1-\alpha) E \eta_i - E \nu_i E \eta_i = 0$$

If $0 < E |x_i^*|^2 < \infty$, $E |\varepsilon_i|^2 < \infty$, $0 < E |\nu_i|^2 < \infty$, $0 < E |\eta_i|^2 < \infty$ and $E \varepsilon_i = 0$

then $\beta_{OLS} \xrightarrow{p} \beta$.

$$(c) \tilde{\beta} = \beta + \frac{\Sigma (\alpha x_i + (1-\alpha) z_i) y_i - \beta x_i z_i}{\Sigma x_i z_i} = \beta + \frac{\Sigma [(\alpha \nu_i + (1-\alpha) \eta_i - \nu_i \eta_i) x_i^* (x_i^* \beta + \varepsilon_i) + x_i^* \varepsilon_i \nu_i \eta_i]}{\Sigma (x_i^*)^2 \nu_i \eta_i}$$

Denote $A_i = (\alpha \nu_i + (1-\alpha) \eta_i - \nu_i \eta_i)$ $B_i = x_i^* (x_i^* \beta + \varepsilon_i)$ $C_i = x_i^* \varepsilon_i \nu_i \eta_i$

$$D = E [(x_i^*)^2 \nu_i \eta_i] = E [(x_i^*)^2]$$

$$G = Var [A_i B_i + C_i] = Var [A_i B_i] + Var [C_i] + 2Cov [A_i B_i, C_i]$$

$$\begin{aligned} Cov [A_i B_i, C_i] &= E [(A_i B_i - E [A_i B_i]) (C_i - E [C_i])] = E [A_i B_i C_i] - E [A_i B_i] E [C_i] = \\ &= E [A_i B_i C_i] = E [(\alpha \nu_i \eta_i \nu_i + (1-\alpha) \nu_i \eta_i \eta_i - \nu_i \eta_i \nu_i \eta_i) (x_i^* \varepsilon_i)^2] = \\ &= (\alpha E [\nu_i^2] + (1-\alpha) E [\eta_i^2] - E [\nu_i^2] E [\eta_i^2]) E [(x_i^*)^2] E [\varepsilon_i^2] \end{aligned}$$

$$Var [A_i B_i] = E [(A_i B_i)^2] - (E [A_i B_i])^2 = E [B_i^2] E [A_i^2] - (E [A_i])^2 (E [B_i])^2 = E [B_i^2] E [A_i^2]$$

$$Var [C_i] = E [C_i^2] = E [\nu_i^2] E [\eta_i^2] E [(x_i^*)^2] E [\varepsilon_i^2]$$

$$F = E [B_i^2] = \beta^2 E [(x_i^*)^4] + E [(x_i^*)^2] E [\varepsilon_i^2]$$

$$E [A_i^2] = \alpha^2 E [\nu_i^2] + (1-\alpha)^2 E [\eta_i^2] + E [\nu_i^2] E [\eta_i^2] + 2\alpha(1-\alpha) - 2\alpha E [\nu_i^2] - 2(1-\alpha) E [\eta_i^2]$$

$$\begin{aligned} G &= \{ \alpha^2 E [\nu_i^2] + (1-\alpha)^2 E [\eta_i^2] + E [\nu_i^2] E [\eta_i^2] + 2\alpha(1-\alpha) - 2\alpha E [\nu_i^2] - 2(1-\alpha) E [\eta_i^2] \} * \\ &\{ \beta^2 E [(x_i^*)^4] + E [(x_i^*)^2] E [\varepsilon_i^2] \} + 2 \{ \alpha E [\nu_i^2] + (1-\alpha) E [\eta_i^2] \} * E [(x_i^*)^2] E [\varepsilon_i^2] - \\ &- E [\nu_i^2] E [\eta_i^2] E [(x_i^*)^2] E [\varepsilon_i^2] \end{aligned}$$

$$\sqrt{n} (\tilde{\beta} - \beta) \xrightarrow{d} N(0, D^{-1} G D^{-1})$$

$$(c) \min_{\alpha} G(\alpha)$$

$$\{ \alpha E [\nu_i^2] - (1-\alpha) E [\eta_i^2] + (1-2\alpha) - E [\nu_i^2] + E [\eta_i^2] \} F + (E [\nu_i^2] - E [\eta_i^2]) E [(x_i^*)^2] E [\varepsilon_i^2] = 0$$

$$\alpha^* = \frac{1}{E [\nu_i^2] - 1 + E [\eta_i^2] - 1} \left[E [\nu_i^2] - 1 + \frac{E [\eta_i^2] - E [\nu_i^2]}{\frac{E [(x_i^*)^4]}{E [(x_i^*)^2] E [\varepsilon_i^2]} \beta^2 + 1} \right]$$